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Pass Marks : 28

Answer all Five questions from Group B, each question 

carries 4  marks.
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6

Where = compression ratio and   = ratio of 

specific heats C /C. pv

Draw  a line diagram of window Air -conditioner

and explain its working principle.

compression cycles when the vapour after 

compression is 

(a) Dry saturated 

(b) Wet

2 1611304

1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)        

NT3005

Which of the following is an intensive 

property?

(a) Volume

(b) Temperature

(c) Energy

(d) Work transfer

1 pascal in SI units is :

2 (a) 1N/m

(b) 100 Kpa
52 (c) 1x10 N/m
32 (d) 1x10 N/m
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Draw a line diagram of air conditioning system 

required in winter season. Explain the working of 

different components in the circuit.

0per minute at 15 C dry bulb temperature and 80%

RH  is heated until its dry bulb temperature is 
022 C. Find heat added to the air per minute.

given by expression:

9.

OR

6

10.

6
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(iii)

(iii)

(iv)

(ii)

Heat is absorbed by a refrigerant during a 
refrigerantion cycle in:
(a) Condenser
(b) Throttle valve
(c) Evaporator
(d) Compressor

Superheating of vapour refrigerant in evaporator
during vapour compression eycle.
(a)  Decreases COP
(b)  Increases COP
(c)  Decrease refrigeration  effect
(d)  Increase work input 
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Prove that the specific humidity is given by w = 

0.622 ,           ,where p =partial pressure of water v

vapour. and p = total pressure of air.

Calculate:

(a) Specific humidity

(b) Enthalpy

(c) Relative humidity

00 30C DBT15C WBT 

 pv
p- pv

 pv
p- pv

8.

6

OR
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(v)

(v)

(vi)

(iv)

NT3005

 A Psychrometer is an instrument, which 
measures.
(a) Wet bulb remperature
(b) Dry bulb temperature
(c) Dew point temperature
(d) Dry bulb and wet bulb temperatures

For a moist air, if DBT is 15°C, WBT is 15°C
and DPT is also 15°C, the saturation 
temperature will be:

0
(a) 15C

0
(b) 25C

0
(c) 10C

0
(d) 35C
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(vii)

(vii)

(viii)

(vi)

NT3005

In summer air -conditioning, the air is :
(a) Cooled  
(b) Cooled and dehumidified
(c) Heated and humidified
(d) Cooled and humidified

During cooling and humidification process
in air conditioning 
(a) DBT deerease
(b) RH derease
(c) DBT increases
(d) None of the a above

Answer all Five Questions. 
6 x 5 = 30

16

6
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The cop of a vapour compression refrigeration 

system is 3. if the compressor motor draws a power

of 10.5 KW at 91% motor efficiency , what is the

refrigeration effect in TR of system?

10.5 KW

refrigeration.

7.

OR
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(ix)

(ix)

(x)

(viii)
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The refrigerant comonly used for commercial

ice plants is :

(a) Freon -12
3

(b) NH
2

(c) CO
2

(d) SO

Which of th following pair of refrigerants is 

both non- toxic and non-inflammable?

(a) NH and SO 32

(b) CO  and SO 22

(c) CO  and F-12 2

(d) F-12 and NH3

151611304 NT3005

system.

OR

6.

4
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(xi)

(xi)

(xii)

(x)

NT3005

............remains constant.

(a) Dry bulb temperature

(b) Wet bulb temperature

(c) Humidity ratio

(d) Relative humidity

For an irreversible process, the entropy of 

the system is :

(a) Zero

(b) Increased

(c) Decreased

(d) None of the above

141611304 NT3005

OR

OR

(a) Relative humidity 

(b) Dew point temperature 

chart.

(a) dehumidification of moist air by cooling.

it is achieved.

4

5.
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(xiii)

(xiii)

(xiv)

(xii)

NT3005

which condensation begins when the air is 
cooled at constant............
(a) Volume
(b) Entropy
(c) Pressure
(d) Enthalpy

For summer air conditioning, the relative 
humidity should not be less than 
(a) 40%
(b) 60%
(c) 75%
(d) 90%

131611304

4

4

4.

OR
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3.

Define thermodynamic systems and classify 

them. 

vapour compression refrigeration system.

secondary refrigerants? Explain in briefly.

refrigerating system.
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(xv)

(xv)

(xvi)

(xiv)

NT3005

lowest boiling points?
(a) Ammonia
(b) Carbon dioxide
(c) Sulpur dioxide
(d) Freon -12

Which of the following refrigerant is highly
toxie and flammable?
(a) Ammonia
(b) Carbon dioxide
(c) Sulphur dioxide
(d) Freon -12

121611304

Answer all Five Questions. 

2.

4 x 5=20

4                     

(xx)

NT3005

Define thermodynamic property, path, process and 

cycle.
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(xvii)

(xvii)

(xviii)

(xvi)
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range of compressor should be :
(a) High
(b) Low
(c) Optimum
(d) Any value

The capillary tube, as an expansion device, is 
used in:
(a) Domestic refrigerators
(b) Water coolers
(c) Room air conditioners
(d) All of the above

111611304

(xviii)

(xix)

(xx)

(xix)
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(a) Air motion

(b) Dry bulb temperature

(c) Relative humidity

(d) All of the above

Identify the process which is generally 

practiced in winter air conditioning.

(a) Sensible heating

(b) Chemical dehumidification

(c) Humidification

(d) Heating with dehumidification


	1: 20 - 1
	2: 2-19
	3: 18-3
	4: 4-17
	5: 16-5
	6: 6-15
	7: 14-7
	8: 8-13
	9: 12-9
	10: 10-11

